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GCSE Mathematics 1MAQ
Formulae: Foundation Tier

You must not write on this formulae page.
Anything you write on this formulae page will gain NO credit.
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Avrea of trapezium = —é— (a + b)Yk h

e
o
w

Volume of prism = area of cross section x length

2 .




Answer ALL questions.
Write your answers in the spaces provided.

You must write down all stages in your working,

1 (a) Write the number seven thousand and twenty five in figures.

7025

(1)
(b) Write the number 9450 in words,

Nine thouswnd b oue lnu.'\c)!‘tzj

o
(¢) Write the number 28.(7}5 to the nearest whole number.

(d) Write the number 7380 to the nearest thousand.

1000 BC60
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2 Tere are some patterns made from triangles.

Pattern Pattern Pattern Pattern
number number number muamber
i 2 3 4

(a) Complete the table,

Pattern number 1 2 3 4 5
Number of triangles 2 4 6 3 VO
(1)
(b) How many triangles are needed for Pattern number 127
12 A
2
................... (1)

Luke says that Pattern number 40 has 82 triangles.

(c) Luke is wrong.

Explain why.
................................................................ The mumbu . telaagles 08
Louble Kot pebbern  ntan haL i
50 et o be 9O )
e - o (Total for Question 2is3marks)
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3 The diagram shows the temperature in an oven.

(a) Write down the temperature.

(1)

Lorna switches her oven on at 5.50 pm.
She sets the temperature at 180 °C.
1t takes 15 minutes for the oven to reach a temperature of 180 °C.

{(¢) What time will the oven reach a temperature of 180 °C?

b.OS P

1)

(Total for Question 3 is 3 marks)
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4 The table shows some information about the amounts of time, in minutes, that Dave and
Nick spent using their mobile phones on four days last week.

Time (minutes)

Dave Nick
Thursday 7 6
Friday 6 11
Saturday 17 12
Sunday 28 35

Nick spent less than 10 minutes using his mobile phone on one of these four days.

(a) Which day? k. mins

On Sunday Nick spent more time using his mobile phone than Dave.

(b) How much more time?

25 -2%

.............................................. minutes

#(c) Work out who spent the greater total amount of time using his mobile phone,
You must show all your working.

Dave Tokel = T4 by |71 +728

fi

SSM:‘A5
Mick Terl = b4 14 2435 -~ 6L Mins

VAT 5(}0\': lﬁf\g{j‘ b\1 b m ia}

&)

(Total for Question 4 is 5 marks)
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5 IHere is a shape.

SN
N
he \\\\\ N

q‘ .f)(t/ugﬂ A

Shade % of this shape.

___ (Total for Question 5 is 1 mark)

6 72 people are on a bus.
15 people get off the bus.
9 people get on the bus.

How many people are now on the bus?

1 -15 = 57

5"’[4’6{': Lb
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7 Mrs Clark shares £20 between Sally, Bethan, Robert and Tom.

Mrs Clark gives £6.65 to Sally.
She shares the rest of the money equally between Bethan, Robert and Tom.

How much money does Mrs Clark give to Bethan?

20 ~ bbS = f1335

LRI g}
1525 3 = ) s

% — S

___(Total for Question 7 is 3 marks)
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8 Here are the test marks for the students in Mrs Potter’s maths class.

28 36 25 43 18 39 30
36 27 31 33 14 22 36
23 12 38 36 40 45 27
(a) Complete the frequency table for these marks.
Mark Tally Frequency
10 19 1\ 3

20— 29 U/‘/r |

[t

40 — 49 %

L
9
2

(b) Work out the number of these students getting less than 20 marks.

(Total for Question 8 is 4 marks)

(3)

R

—
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9 Draw a circle of radius 5 cm.
Use the cross (x) as the centre of your circle.

____(Total for Question 9 is 1 mark)
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10 Here is a list of numbers,
5 15 30 50 60 90 100 125
From the numbers in the list, write down

(i) two different numbers that add up to an cven number

5 43 15 = 30O

(ii) a multiple of 20

bo (2()%3\

(iii) a factor of 45
| 5 (s 15 - 3)

(iv) a cube number

]13— (5%5-»4 5'\

___(Total for Question 10 is 4 marks)

N

O
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11 George is going to buy exactly 10 ink cartridges.

Ink Cartridges

[ cartridge

3 cartridges

£9.39 per cartridge £24.30 for a pack of 3 cartridges

Find the difference in cost between the cheapest way and the most expensive way to buy
the 10 ink cartridgcs.

’l Co.rl?rzdﬁdi £q%(5} » 1O < { "13. 6
}5 conrtiitye | 12420 x 3 < $772.90

] 9.3 *+

Y

Nee) | mort

99.249

I

Digtetnce = 943.90 - 8229

c 4ib)

\ e S ——
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12 These shapes have been drawn on a grid of centimetre squares.
. . . = Same Shepo
(a) (i) Write down the letters of a pair of shapes that are congruent. f
E) ....................... and .. D ..............................
(ii) Write down the letters of a different pair of shapes that are similar. —s ¢, | tgem ot
(2)
(b) Find the perimeter of shape D.
(1)
. B ~ (Total for Question 12 is 3 marks)
, " . A

O
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13 The table shows the temperature every four hours one day in December.

Time Temperature
2 am 6°C
6 am —4°C
10 am ~2
2 pm 8°C
6 pm 5°C
10 pm —1°C

(c) Work out the temperature at midnight.

(a) Write down the time with the lowest temperature.

_..l ,_.5’

S

v
= e

Between 10 pm and midnight the temperature goes down 5 °C.

(b) Work out the difference between the temperature at 2 pm and the temperature at 6 pm.

2 -5

(2)

_____ (Totat for Question 13 is 4 marks)
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%14 A factory makes yoghurt in a tank,

g T
S

tank of
yoghurt

\.._,__‘_»___//

Here are the weights of the ingredients needed to make a tank full of yoghurt.

Milk 80 kg
Skimmed milk powder 2 kg
Sugar 3 kg
Stabiliser I kg
Fruit 10 kg

The yoghurt from the tank is put into pots.
Each 1 kg of the yoghurt is used to fill § pots.

Is there enough yoghurt in the tank to fill 750 pots?
You must show all your working.

Tok’c\\ \uuj\d' <f TAgda?ub
= S0+ 224 24 L4V £ g 3

Totd  pols = A » 3 = T16E

We ten mealw ”‘13%) Pojf,) 40

%Eﬁ H\Lfl [5S e,nob’\ S(Jﬂl\w\(_ Lo

Mee  T1S0

(Total for Question 14 is 4 marks)

S
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at three schools.

Complete the two-way table.

School A | School B | School C Total
Boys 85 29 54 | b3
Gitls a4 > 31 47 171
Teachers 13 5 q ol
Total 191 LS 110 366

%S 4+ 24 4 5L = W&

@l - 89 - 2 = 43

2bb - (1) -~ WY T 2

271 - 1% -5 - 9

29 4 3l +5 = 65

b — bS5 -l = IO

e

T -

15 The two-way table shows some information about the numbers of boys, girls and teachers

. (Total for Question 15 is 3 marks)
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16 The diagram shows a pyramid.

(a) Write down the number of

(i) faces,

(ii) edges,

(iivertices. ¢ rners e

The base of the pyramid is a square.

(b) In the space below, draw a sketch of a net for this pyramid.

/\

\‘

(2)

(Total for Question 16 is S marks)

.
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17 (a) (i) Work out 3.2% -+ /7.5

Write down all the figures from your calculator display.

12.973612719

(i) Write your answer to (a)(i) correct to 2 significant figures.

1.Jah & EX

(b) Work out the value of 10°

__(Total for Question 17 is 3marks)

18 =8
() Work out the value of 2+ 7

F

\

29 + 1 52

T=3g+5h

g==7

h=4

(b} Work out the value of 7.

4 2 B (-2) o+ 5= (L)

N
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19 The pie chart shows some information about the time Gill spent working in her garden

one month,

weeding

cutting the

planting

digging

(a) What fraction of the time did Gill spend cutting the grass?

Tetd
ch)rr,e.)

Gill spent 7 hours weeding.

(b) How much time did Gill spend planting?

Oeqg cees o W eeding

\ W) . - T hows
e o Ve
50 20 < V' howrs L@
N k__’ oy A D - ) ') N e NOUES
L ¥ 307 < L hows @)

Vi

= 30 - 100 -89 - ko
= Lo °

(Total for Question 19 is 4 marks)

o

S S A A

P4 2 0 5 8 A0 1 8 3 2

19

Turn over >




;e

20 The diagram shows the positions of two villages, Beckhampton (B) and West Kennett ().

Scale: 4 cm represents | km,

(a) Work out the real distance, in km, of Beckhampton from West Kennett.

L

1O - L\.
............... 26— km
(2)
The village, Avebury (4), is on a bearing of 038° from Beckhampton.
On the diagram, 4 is 6 cm from B.
(b) On the diagram, mark 4 with a cross (X).
Label the cross A.
(2)
__ (Total for Question 20 is 4 marks) B
. s e
20




21 Simon went for a cycle ride.
He left home at 2 pm,

The travel graph represents part of Simon’s cycle ride.

F N

22 e O 1 1 2 2 0 B
20 H+L L B Ll L e
TITIL :7:"7 BB ;:,:/_ N _,, =
18 ek SIALL +-\ - et A
11 /‘LW* T R
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2 pm 3 pm 4 pm 5 pm 6 pm 7 pm g pm

Time

At 3 pm Simon stopped for a rest.

(a) How many minutes did he rest?

FLAY % O

LYvE e . IMINUItES

0y

(b) How far was Simon from home at 5 pm?

At 5 pm Simon stopped for 30 minutes. ¥, 300~
Then he cycled home at a steady speed.
It took him 1 hour 30 minutes to get home,  T1pm

(c) Complete the travel graph.
(2)

&'::.-F«:m;j:ﬂamn:-r-" = R S S
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(b) On this grid, draw the line y = x

(1)

(1)

22
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(¢) Find the gradient of the straight line drawn on this grid.

319 - |5

v

A
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(b) Simplify

23 (a) Simplify »° x

U T

O powesT
3
N
(1)
Subbredt powed
n°>

(Total for Question 23 is 2 marks)
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24 Peter goes for a walk.
He walks 15 miles in 6 hours.
(a) Work out Peter’s average speed.
Give your answet in miles per hour.
Goees = DL 1S
Time L
s 2 b
(2)
5 miles = 8 k.
Sunita says that Peter walked more than 20 km.
*(b) Is Sunita right?
You must show all your working.
5 miles = T Kk m
P C, ‘2 x 3
1S mmites = 2L km
Hes  Sunita 15 cight s
Peber Walhed 21 ko
(2)
(Total for Question 24 is 4 marks)
\.... ——— S—— s
25
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25 Mr Watkins needs to buy some oil for his central heating.

Mr Watkins can put up to 1500 litres of oil in his oil tank.
There are already 850 litres of oil in the tank.
Mr Watkins is going to fill the tank with oil.

The price of oil is 67.2p per litre.
Mr Watkins gets 5% off the price of the oil.

How much does Mr Watkins pay for the oil he needs to buy?

To 00l ftunk Ko needsS SO0 -~ K850
= bSO libes ¢ oil

Prie. ¢ oit = blap

5% 4 6712 = L2 <065
= ?)?)l:-p

Drm he Paj> - 5“7..2 - 33&3
b3 8L,
= Ll watb P

I NI

-,

. (Total for Question 25 is 5 marks)

AR 0 0 R

cemeri®
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26 Here is a four sided spinner.
The spinner is biased.

The table shows the probabilities that the spinner will land on 1 or on 3

Number 1 2 3 4

Probability 0.2 0.1

The probability that the spinner will land on 2 is the same as the probability that the
spinner will land on 4

(2) Work out the probability that the spinner will land on 4

Tede) preb = l
M;b‘?l—\'\,_lj p(‘yi; =\ 702 - 0O = pHo7
Dame P(‘OL) ﬂ(zv— oty

% 0122 (035
(3)

Shunya is going to spin the spinner 200 times.

(b) Work out an estimate for the number of times the spinner will land on 3

200 O - I § & 20 (.-\"M)

(Total for Question 26 is 5 marks)

T
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27 (a) Expand 3x+4)
(b) Expand x(x?+2)
(¢) Factorise =~ x*— 6x

(Total for Question 27 is 4 marks)
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28 Here is a solid prism.

; Diagram NOT
§ accurately drawn
1
:
]
1

F—5 Clil—- i

| |

7 ¢cm @ 2T
l —1/’; r/
St glem B

Work out the volume of the prism.

Arc_ﬁ ()& 6&-(.& X

) xS = 35 cm?

@ b W = 2L em®
59 cmt

54 s 20

't

\ff/|bw\-(

- \)80 C/MB

e G

____{Total for Question 28 is 3 marks)

TOTAL FOR PAPER IS 100 MARKS
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